A=a1—% ;—ﬁ%iﬁ%ﬁ/ﬁﬁ%ﬁ% BRBSEBRESR —RBERY—ERTIL—T [F7(IL4A IA—{EERY—EARRES ¥V 0—FFEAB B2 .csv
|

BE EEES #REEL Bl [ Hi%k [ [
AYSEL 1

-1 —FEERY—EXRRES - 26

1-2 RYUXF HIXF 1

1-3 BREES - 10

1-4 RYXF - HIXF 1

15 AER B 2(AEE

1-6 RYYXF - HIXF 1

-7 FEf2 B 2(AEE

1-8 RYXF - HhIXF 1

1-9 FEH3 B 2(AEE

1-10 | [EPIYXF - HhIXF 1

1-11 | [&F% = 3

1-12| [&iFa—F - CSVLaO—FO#&hY 2
T—5E8 BEEER

2-1 —EERY—ERRERES - 16[AIER

2-2 RYYXF - HhIXF 1

2-3 BREES - 16[AIER

2-4 RYUXF - HIXF 1

2-5 AER B 2(AEE

2-6 RYYXF - HIXF 1

2-7 FEf2 B 2(AEE

2-8 RYYXF - HOIXF 1

2-9 FE{H3 B 2(AEE

2-10 | [RYIYXF - HIXF 1

2-11 ElRES - 182[AIE R

2-12 | [&fFa—F - CSVLa—FO#&hY 2

X1 AITNI+—T—2avRELTVBERIDVTIE, BITF TN I4+—TFT—2av D23 bEEATVS,

%2 AEREBICOVWTEERAREREH




